Algebra 1
Study Guide for Midterm

Solve each eqguation.

1) 2m+26 = -5(3m + 5)
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D) No solution.
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Write an inequality for each graph.
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Solve each inequality and graph its solution.

7) —50 < 2(~5 + 5x)
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Solve each compound inequality and graph its solution.
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Solve each ineguality and graph its solution.
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Selve each equation.




Sketch the graph of each line.

14) x=3

Y

13) py=5x~5




Find the slope of each line.
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Find the slope of the line through each pair of points.
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Find the value of x or y so that the line through the points has the given slope.

17} (2, yyand (-5, 1); slope:%

A) 2 B) 4
C) —4 D) -9

Write the slope-intercept form of the equation of each line given the slope and y-intercept.

18) Slope=-3, y-intercept=>3




Write the slope-intercept form of the equation of the line through the given point with the given slope.
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19) through: (—4, 4), slope = — "
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D) y=——x~5

Write the standard form of the equation of the lne described.
20) through: (-3, —2), parallelto y = PR

A) x+3y:0 B) 2x—3ym0
C) x=3yp=-15 D) 4x+3y=0
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1) Determine if the graph at the below is a function. 2} Determine if the relaton represents a
' ' function.
{(2,3). (2,4),(2,5),(2,6)}
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4y Answer the following questions about the piecewise graph below.

4. Is the graph a function?

5.1s 3 in the domain? \ T )
6.Is S the rar_ige'? \/

7, What is the range for a domain value of 77 S SRR
8. What is the demain for a range value of 27 _- o

5} You are collecting tickets at the Stetson Talent Show. Adult tickets are $5.00 and student tickets are $2.50.
After the show your collection box shows that 500 people paid admission. You count §2000 from the sale of th
tickets. You are just abowt reday to leave to be with your friends when Mrs. Stauffer syas, By the way, how

“many of each ticket did we sell? Rather than sorting all the tickets you decide to use algebra to calculate the
" answer. What do you teli Mrs, Stauffer?




Cell phone companies use equations to determine how much to
charge monthly. For example, a company charges S30 for the
monthly service and $.05 for each call.

a. Write an equation to model how much the cell company
charges.

b. What do the slope and y-intercept of the graph represent
in this situation? |
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c. Graph the equation you wrote. Label each axis
appropriately.
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d. What is the rate of change in this equation?




14, Describe the correlation of the given scatter plot. (1 point)

Weight-Lifting

15. Draw a best fit line. (1 point)

16, Which equation could be used as the best fit line for the
L 4 graph? (2 points)
bl a.y=—--135x+14 b, y=-10x+ 14
» & L
» c. y=—10x+8 d.ym—ﬁx+8
]

0 0 A0 60 80 100 120 140 17. Using your choice from #16, predict the repititions for
We ight | {Fﬁuﬂ ﬂS) o someone who lifts 50 pounds? (1 point)




